
https://www.pass4itsure.com/1z0-071.html
2024 Latest pass4itsure 1Z0-071 PDF and VCE dumps Download

 

 

 

1Z0-071Q&As

Oracle Database 12c SQL

Pass Oracle 1Z0-071 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-071.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-071 Dumps | 1Z0-071 Study Guide | 1Z0-071 Braindumps                                1 / 4

https://www.pass4itsure.com/1z0-071.html
https://www.pass4itsure.com/1z0-071.html
https://www.pass4itsure.com/1z0-071.html


https://www.pass4itsure.com/1z0-071.html
2024 Latest pass4itsure 1Z0-071 PDF and VCE dumps Download

QUESTION 1

View the Exhibit and examine the description of the ORDERS table. 

Which two WHERE clause conditions demonstrate the correct usage of conversion functions? (Choose two.) 

A. WHERE order_date_IN ( TO_DATE(\\'OCT 21 2003\\',\\'MON DD YYYY\\'), TO_CHAR(\\'NOV 21 2003\\',\\'MON DD
YYYY\\') ) 

B. WHERE order_date > TO_CHAR(ADD_MONTHS(SYSDATE,6),\\'MON DD YYYY\\') 

C. WHERE TO_CHAR(order_date,\\'MON DD YYYY\\') = \\'JAN 20 2003\\' 

D. WHERE order_date > TO_DATE(\\'JUL 10 2006\\',\\'MON DD YYYY\\') 

Correct Answer: CD 

 

QUESTION 2

Which two statements are true about indexes and their administration in an Oracle database? (Choose two.) 

A. A new index can be created or an existing one reused when a primary key constraint is created. 

B. An INVINSIBLE index is maintained by DML operations on the underlying table. 

C. If a query filters on an indexed column, the index will always be accessed during execution of the query. 
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D. A DROP INDEX statement always prevents updates to the table during the drop operation. 

E. The same table column cannot be part of a unique and non-unique index. 

Correct Answer: AB 

 

QUESTION 3

Which three statements are true about performing DML operations on a view with no INSTEAD OF triggers defined?
(Choose three.) 

A. Views cannot be used to query rows from an underlying table if the table has a PRIMARY KEY and the PRIMARY
KEY columns are not referenced in the defining query of the view. 

B. Delete statements can always be done on a table through a view. 

C. The WITH CHECK clause has no effect when deleting rows from the underlying table through the view. 

D. Views cannot be used to add rows to an underlying table if the table has columns with NOT NULL constraints lacking
default values which are not referenced in the defining query of the view. 

E. Views cannot be used to add or modify rows in an underlying table if the defining query of the view contains the
DISTINCT keyword, 

F. Insert statements can always be done on a table through a view. 

Correct Answer: CDE 

 

QUESTION 4

No-user-defined locks are used in your database. 

Which three are true about Transaction Control Language (TCL)? 

A. COMMIT erases all the transaction\\'s savepoints and releases its locks. 

B. COMMIT ends the transaction and makes all its changes permanent. 

C. ROLLBACK without the TO SAVEPOINT clause undoes all the transaction\\'s changes but does not release its
locks. 

D. ROLLBACK to SAVEPOTNT undoes the transaction\\'s changes made since the named savepoint and then ends the
transaction. 

E. ROLLBACK without the TO SAVEPOINT clause undoes alt the transaction\\'s changes, releases its locks, and
erases all its savepoints. 

F. ROLLBACK without the TO SAVEPOINT clause undoes all the transaction\\'s changes but does not erase its
savepoints. 

Correct Answer: ABE 
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QUESTION 5

The ORDERS table has a primary key constraint on the ORDER_ID column. 

The ORDER_ITEMS table has a foreign key constraint on the ORDER_ID column, referencing the primary key of the
ORDERS table. 

The constraint is defined with on DELETE CASCADE. 

There are rows in the ORDERS table with an ORDER_TOTAL less than 1000. 

Which three DELETE statements execute successfully? 

A. DELETE order_id FROM orders WHERE order_total 

B. DELETE orders WHERE order_total 

C. DELETE * FROM orders WHERE order_total 

D. DELETE FROM orders; 

E. DELETE FROM orders WHERE order_total 

Correct Answer: BDE 
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